
    

 

PART A   Fundamental Concepts and Opera�ons 

1.  
09.

0045.
 is equal to: 1.______________________ 

 
2.  ½ % of 8000 is: 2.______________________ 
 

3.  If x = 3 the value of 4−x + 5 0x is: 3.______________________ 
 
4.  Which of the following is TRUE? 4.______________________  
  

    a)  



PART D   Linear Equa�ons and Graphing 

1.  Determine the SLOPE of the line whose equation is 2x + y = 4 1.  _____________________ 
 
Ϯ͘��tƌŝƚĞ�ƚŚĞ�ĞƋƵĂƟŽŶ�ŽĨ�ƚŚĞ�ůŝŶĞ�ǁŝƚŚ�ƐůŽƉĞ�ϯ�ĂŶĚ�ƉĂƐƐŝŶŐ�ƚŚƌŽƵŐŚ 
      the point (2, -1)      2.  _____________________ 
 
3.  Solve the linear system algebraically: 3x – y = 13 
     x + 2y = -5  3.  _____________________ 
 
ϰ͘��'ƌĂƉŚ�ƚŚĞ�ĞƋƵĂƟŽŶ͗ 2x + y = -5 
 
ϱ͘��'ƌĂƉŚ�ƚŚĞ�ĞƋƵĂƟŽŶ͗ y = 2x 2  - 4 
 
PART E   Solving Word Problems 
 
1. 
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